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(b)

Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version is Authentic

Define Surveying, write the principles of surveying and explain any one
with the sketch.

Explain the construction of diagonal scale and construct the diagonal
scale for 1cm = 4.5kmand show 73.2km on it.

Draw the fig of standard metric chain along with handle, link, and tally.
A 20m chain is found to be 10cm too long after chaining a distance of
1800m. it was found to be 20cm too long at the end of days work after
chaining a distance of 2800m. Find the true distance if the chain was
10cm too short before starting of work.

OR
Draw a page of field work and show it a building corner, well, road
crossing chain 50m, compound wall with gate, temple, north line etc.

Distinguish between the following.

(1)Prismatic compass and surveyors compass.

(2)Whole circle bearing and Reduced bearing.

The following observations were made during close traversing.

LINE FORE BEARING
AB 140° 30°
BC 80° 30’
CD 340° 00’
DE 290° 30’
EA 230° 30'
Calculate Included angles of traverse and apply necessary checks.
OR
Following bearings were observed in closed traverse.

LINE FORE BEARING BACK BEARING
AB 108° 45’ 289° 30’
BC 1°00° 181° 00’
CD 303°15° 124° 30°
DA 226° 30° 44°30°

At which station do you suspect local attraction? Find the correct bearing

of the line.

Write short note on any Two.
(1) Location sketch.
(2) Bench mark
(3) Closing error of traverse

Subject Name: Surveying
Time: 03:00pm - 05:30pm
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Q.4

Q.5

(a)

The following offsets were taken from a survey.

Distance | 0 5 10 15 20 30 40 55 70
in M
Offsets |3.29 | 4.05 | 623|575 |4.76 | 526 | 4.32 | 3.92 291
in M

Find the area between the survey line and the hedge by trapezoidal &
Simpson’s rule.
Describe the various methods used for plane table survey

OR

Find out area of figure from the following data taken with planimeter.
IR=6.452 FR=9.675 C=22 M=100sq cm N=1

(1)Enlist the accessories used in plane table survey and write use of each.

(2)What are the uses of contour map?

The following consecutive readings were taken with a dumpy level and

4m. staff on continuously slopping ground at 25m.intervals.

0.680 1.455 1.720 2.335 2.915 3.215 1.055 1.760 2.245 3.540

0.865 0.970 1.530 and 2.335

Rule out a page of a level book and enter above readings. Find out R1. of

all the points by Rise & Fall method. If the 1* reading taken on Bench
mark having RL = 80m. Apply arithmetic check determine the gradient
of the line joining 1* & last point.

(1) Define the following terms.

(a)Back sight (b)Change point (c)line of collimation(d)level line

(2)Explain characteristics of contour.

OR

The following consecutive readings were taken with dumpy level

3.860, 3.340,2.935, 1.860, 0.625, 3.700, 2.630, 1.545, 1.920, 0.860,0.660

The level was shifted after 5™ & 8" reading. The first reading was taken
on benchmark of RI 90.00m. Calculate the reduced level off all points,
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the difference between first & last point. Apply usual check.
(b) Explain temporary adjustment of level.
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(b)

Q.3
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Q3 (a)

(b)

Q.4
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Q.4 (a)
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OR
(3c5 ojsq] As Ule] €131 AUl Ustatoll YR, 50m ABA AS S\

A, 5, 5PUGBS Al ecllst W, H(ER val Aldctet g2lial

o{lAell dAglald .
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SULRL HIAR Vot EH2lel oA oll A St AcMl MAA B..

LINE FORE BEARING
AB 140° 30’
BC 80° 30’
CD 340° 00’
DE 290° 30’
EA 230° 30'
HIGAL JWRlotl BlEetl HRUL M. el %33 dloll Andl,
OR
SURL HIARWol £12lel oflA oll AaACSt AHl WA .
LINE FORE BEARING BACK BEARING
AB 108° 45 289° 30’
BC 1° 00’ 181° 00’
CD 303° 15° 124° 30°
DA 226° 30° 44° 30’
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axsn Al . IR=6.452 FR=9.675 C=22 M=100sq cm N=1
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Q.5

Q.5

(@)

(b)

(@)

(b)

ol Aetl AAASA Add Gl alol GUR sl Aad A 4m oll

Rlsoll Heedl 25m oll WA Ut AcllHl el scll.

0.680 1.455 1.720 2.335 2915 3.215 1.055 1.760 2.245 3.540
0.865 0.970 1.530 and 2.335
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OR
srdlAad ad o1 Yol sMs ciAuatisl Aol vl 8.
3.860, 3.340,2.935, 1.860, 0.625, 3.700, 2.630, 1.545, 1.920, 0.860,0.660
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